ERT 13 FER 36 EXFRET (LPORMY %H (£ 7-2)
M T RKT BT A B PR A Y ST KB 32 S k()L

GRARE2p A1 N GRS & B s Y oy i i)

EXUNE £ 0 FALLE ] a7 HRAR & A R S ﬁf j& fT_

% - 4 SRR L 22
sy |O¥-4 2ERFHFRAE 18
(1% = 5 PARY -~ EFRER 2

= (% - % B LR T 10 w
gy |- 2 E R AR R AR 9
()5 = & FETER LT 1
% - % EE LR FAE 22
sy |O%- % ER - B 16
Cl% e %7 pAgy-2itrFakh 3

= % - % EAR LR T AR 9 70
~gy |O%-4 4 ERH R e 16
%z % pAEY-*tEF kb 4
% - % AL FE S R AR 12
% - # I 9
HEY I Ose pAgY v CEEPERE |2
U% = % R i R 16

s (% - ST LA 2 |
% - % SRLE A 9
TEY O%e fasy-c i EEERA 3
L% e & fAgY HERFEE 16
% - 4 5 A L 7 A 12
0% - 48 SRR L] 9
LEY e pAgY-c MEFERLE |3
% = 4 fagy EREE R 16

v (% - % 55 K7 L1 7K AT 4B 10 73
(1% - & L7 2 2
TEY BEYE PAFY -2 BEFFLE i)
LR pPAEY-HEFLEE 16




